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Write your answers in your blue book. Use the graph paper provided to draw the graph in Question 2. Show all of your work.
 

 

1. (a) (5pts) Define an income statement. 

(b) (5pts) Provide an example of a firm's income statement.

 

 

 

2. Consider the simple savings model from class. This is a two-period pure exchange economy with one non-durable and divisible consumption good at each date. There are many non-identical consumers endowed with quantities of the goods, and nothing else. Suppose the market interest rate is r=0.25. A particular consumer, Ronald, has an endowment of 24 units of the date 1 good, and 40 units of the date 2 good. 

 

(a) (10pts) Graph Ronald's budget line. Label the axes on your graph, the intercepts of the budget line, and the point that represent Ronald's endowments. 

 

(b) (10pts) At Ronald's consumer equilibrium, he borrows 10 units of the date 1 good. On your graph, indicate the amounts Ronald consumes at each date. On your graph, indicate the indifference curve Ronald reaches when he consumes these quantities. 

 

Ronald has the opportunity to undertake an investment project which requires spending 20 units of the date 1 good and provides benefits of 30 units of the date 2 good.

 

(c) (20pts) On your graph from above, show Ronald's new budget line if he undertakes the project. Label the x- and y-intercepts for this budget line. On your graph, indicate the net present value of the project. On your graph, indicate the indifference curve Ronald would reach if he took the project. Explain whether or not he should take the project.

 

 

 

3. (30pts) Suppose that you have just won the state Twenty Million Dollar Lottery. The state will allow you to pick one of the following two options for collecting your winnings. If the interest rate at which you can borrow or lend is 9%, which option should you choose? Explain.

 

Option 1: Ten annual payments of $500,000 each, starting today, plus a fifteen million dollar payment ten years from today.

Option 2: Ten annual payments of two million dollars each, starting five years from now.

 

 

 

4. (20pts) Consider a series of eleven annual payments. The first payment is $1000 and comes today. The second payment is 2% greater than the first. The annual payments continue to grow at this 2% rate. What is the present value of this series of growing payments, if the market interest rate is 6%? 

